CLASS III CBT FEBRUARY 2024
ANSWER KEY

ENGLISH

Read the following passage and answer the questions.

Aarav and his family went on a mountain trip. They hiked to the top and enjoyed the beautiful
view.Aarav picked colourful flowers there. While descending, it started raining. They took
shelter under a big tree and felt safe. The rain stopped, and they continued their journey. Aarav’s
family had a great adventure in the mountains.

1.Where did Aarav and his family go?

on a mountain trip
on a picnic
to the cinema hall
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to visit a zoo
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correct answer - on a mountain trip

2.What did Aarav do on the mountain?

cooking

riding on a yak
hiked to the top
skating
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O correct answer - hiked to the top

3.What did they do when it started raining?

they used umbrella

They took shelter under a big tree
they got wet

they swam

O O OO
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correct answer — They took shelter under a big tree



4. What happened after the rain stopped?
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they danced

they ate pakodas

they dried their clothes

they continued their journey

correct answer - they continued their journey

5. How did Aarav’s family feel about their mountain trip?
they felt happy

they felt a great adventure

they felt boring

they felt sad

correct answer - they felt a great adventure

TEXT BASED QUESTIONS
6. What went up the hill ?
O apath
O a street
O aroad
O arail line
O correct answer - a path

7. Fill in the blanks using the correct word -

O

O O OO
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The lion lives ina --------- .
box

rug

den

pit

correct answer - den



&. How old was Meena ?

OO0O0O0
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ten
twelve
nine
eight

correct answer - twelve

9. How do worms move ?
hop

dive

swing

wiggle

correct answer - wiggle

10. Tick mark the correct letter which is silent in the given word .
Walk
w

k
|
d
correct answer - 1
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MATHS
1. How many in group?

There are & butterflies.
They are in groups.
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O correct answer - 2

2. Share 12 balloons among 3 boys. How many balloons for each boy?
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o 2
o 6
o correct answer-4

3. Fill in the blank:
40 = =4

2
4
8
1
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0

o correct answer- 10

4. Find the total number of children in the school.
Class 1. 27
Class2. 23
Class3 25
Class4 24
Class 5 28

123
124
126
127
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correct answer- 127

O

5. A frog jumps 2 steps at a time.
A squirrel jumps 3 steps.

A rabbit jumps 5 steps.

A horse jumps 15 steps.

A kangaroo jumps 30 steps.

In how many jumps will the frog reach 30?

o 10



o 15
o 20

o correct answer- 15

6. Minku puts her 15 laddoos equally into 5 boxes.
How many laddoos will there be in each box
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o 11 of the above

o correct answer- 3

7. Look at the table given below after rolling the dice
Face of the dice.
Number of times(I for each throw)
I
I
1T
11
IIIIIT
. M1
Which face of the dice did you get most number of times?
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o correct answer- 2

8.Count the blue coloured objects:

O O O O
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o correct answer- 5
9 Which group has the least number of cakes:
A. B.
C D.
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o correct answer- D

10. Look at the table and answer the question

Way of Travel. Number of people
Walking . 8
Cycling. . 9
Scooters. . 5
Bus. 7

By which way do people travel the most?

Cycling

Bus

Walking

Scooter

correct answer- Cycling
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